Solving Word Problems

Calculation required

No. Question Method Answer

e |[Each cake costs 10p.

X

. |How many cakes could || Tep 10ps make £1

«  |buy with £1.20? Ten fran

g £1.20 =10p I could buy
; 12 cakes.

2. |How many 10cm lengths
can a 240cm ribbon be
cut into?

3. I drink 10ml of water
everyday. How many
days would a 320ml
bottle of water last?
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Katie weighs 10kg. Her dad
weighs 10 times as much.
How much

does Katie's dad weigh?

Liam saves £200. He needs
to save 10 times as much
money to

buy a car. How much
money will Liam need in
total?

How many groups of 10cm
are in 2 metres and 40
centimetres?
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Solving Two-Step Addition and Subtraction Word Problems Answers

question answer
1 £286 - (39 + £59) 188 more to save
2 900 - (687 +174) 39 people
3 (875-323) + 875 1427 packets of crisps
4 £1760 - (1485 + £217) 58 less
5 2016 - (1564 + 52) 400 years
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